Simplify (-3a5b3)4.

Factor 6x3y + 15x2y2 - 3x4y.

Factor 6x3y + 15x2y2 - 3x4y.

Solve: (4(3-1)(6(2+5)

Simplify: 5(18 - 2(75 + 6(27

Find the vertex of the graph of   f(x) = x2 + 4x - 5.

Solve: x2 - 4x + 1 = 0 by completing the square.

Solve: x2 + 7x + 8 = 0.

What is the degree of the polynomial p(x) = 2x5 - 6x4 + 2x2 + 7x - 9?

Find h(g(x)) if g(x) = x - 5 and h(x) = |x|.

Determine the inverse of the function y=1/2x-1

Find the coordinates of the midpoint of the segment with endpoints at 
(3, -5) and (6, 7).

Graph 4x2 + 9y2 + 16x -18y -11 = 0. What type of conic section is this?

Graph the hyperbola with equation x2 - 4y2 - 4x + 24y - 36 = 0

What is an equation for a circle if the endpoints of a diameter are at (3, 4) and (-3, -2)?

If the length of the transverse axis is 10 units, and the length of the conjugate axis is 6 units, what are the coordinates of the vertices?
